Aga Khan University Examination Board
Notes from E-Marking Centre on SSC-11 General Mathematics Examination April/ May 2019
Introduction

This document has been produced for the teachers and candidates of Secondary School
Certificate (SSC) part Il General Mathematics. It contains comments on candidates’
responses to the 2019 SSC-II Examination, indicating the quality of the responses and
highlighting their relative strengths and weaknesses.

E-Marking Notes

This includes overall comments on candidates’ performance on every question and some
specific examples of candidates’ responses which support the mentioned comments. Please
note that the descriptive comments represent an overall perception of the better and weaker
responses as gathered from the e-marking session. However, the candidates’ responses shared
in this document represent some specific example(s) of the mentioned comments.

Teachers and candidates should be aware that examiners may ask questions that address the
Student Learning Outcomes (SLOs) in a manner that require candidates to respond by
integrating knowledge, understanding and application skills they have developed during the
course of study. Candidates are advised to read and comprehend each question carefully
before writing the response to fulfil the demand of the question.

Candidates need to be aware that the marks allocated to the questions are related to the
answer space provided on the examination paper as a guide to the length of the required
response. A longer response will not in itself lead to higher marks. Candidates need to be
familiar with the command words in the SLOs which contain terms commonly used in
examination questions. However, candidates should also be aware that not all questions will
start with or contain one of the command words. Words such as ‘how’, ‘why’ or ‘what’ may
also be used.

General Observations

Generally it is noted that weaker candidates are not well-versed with the hierarchy of
arithmetical and algebraic operations. They were unable to understand the word problem
situation.
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Detailed Comments:
Constructed Response Questions (CRQs)
Question 1:

The candidates were offered choice between part a and part b of the question. Candidates
attempted part a quite well as compared to part b.

Question la:

a.  Show, by simplification, the rational expression 1+ {1 (1—1j +
X

16x
4x -4

} is free of x.

Better responses indicated that candidates had command over the concept of LCM.
Candidates correctly found the LCM and converted division sign into multiplication sign
accordingly. Finally, they were able to simplify the given rational expression free of x.

Example:
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Weaker responses showed that candidates have lack of understanding of the concept of LCM.
They also made mistakes in applying arithmetic operations to simplify the given algebraic
expressions and consequently failed to simplify the given algebraic expression correctly.

In few other responses, it was noted that candidates made mistakes in converting the division

sign into multiplication sign and wrote 1x (1—x) instead of 1x 1 without taking LCM first
X—

which was actually incorrect. Because of this, they could not meet the desired result.

Example:
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Question 1b:
b. Itisgiventhat (m —n)’=125 and m® —n®=500.

i. Showthat m—-n=5.
ii. Hence, find the value of mn.

Better responses displayed that the candidates in part i started well to equate (m —n)*=(5)° in
order to prove m —n=>5. Further in part ii, they used the given condition by applying the

formula of (a —b)’ and hence, they were able to manage the correct value of mn. It was also

seen that they used the result m —n=5 and substituted in (m —n)’ =125 to satisfy the given
condition.

Example:
. Show that mp—nn =45, : {2 Marks}
.'_-h.' —
__(m_—n}. - ld#b _ e
im'f.-}_jt ['6-1} _ -
_ m—r‘::‘fj - . - .
ii. Hence, find the value of an. (3 lacks)

—_ x 2
| {enan), i_fffi?}n:ﬁ 4B A - a

— Y *
22 cm - Banr Do -

A5 . m*n - mmo« Bmnt
"1*3_5_._ BO0 - Bmn [rﬂ*— ﬁ)
135 - A0C = -2 (- n)

-Amn . B S5 o
o]
—rri ] = ?E/‘.‘J o o
Fma = 425

Weaker responses exhibited that candidates were failed to comprehend the question and
committed different mistakes in solving the question. They failed to expand the formula of

(a —b)® correctly so that the candidates could not go further in finding the value of mn.
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Example:

b ris mivan that (s A3 =125 and w2 —m” =500,
i, Bhow that me- m=3. (2 Marks)
fmoy2 o125 w3 022 300
 mi-m3 - 23 m3_n3. 66 o
e ¥ o5 wmEon?o g2 _
_ = m-n=hH e o = 12 o
iE. lence, fid the volse of mrr. [3 sarkr]
LLalEE=e I
= '?. _ o
_ ek m be 8 and n be 2.
R b — N o
5= 12
__ =
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Question 2:

The candidates were offered choice between part a and part b of the question. Almost equal
number of candidates opted both parts.

Question 2a:
a. Giventhat P(x)=x3-m (x2 —X )+4,

i.  find the remainder when P(x) is divided by 2x-2.

ii. show that m? +2m=3, when P(x) is divided by 1+ x which leaves a
remainder of m?.

Better responses showed a clear understanding of remainder theorem and its application.
They solved part i systematically by application of remainder theorem to find remainder first.
Similarly, in part ii, they used the given condition very well to reach the required form
m? +2m=3.

Example:

. Ciiven that F{x}=x"—m (rz —x}+4,

i find the remainder when Plx) is divided by 2x-2. (2 Marks)
au-3 2 MM-{@Yre_ Wt emfulnya b
dp= A ot ud mnleoen 4l
ue 3o | U W[ 1) Y
2 L-harpaY o8 Ve gemainder WE

ii.  show that a° +2m=3, when PLvy is divided b 112 which leaves a remainder of m?.

(3 Marks)
=
By oy wrH

W ond A Prend-Aba Y

s | = pnepn %Y

e 144 . D
et 3w
m‘:. ABrez S I:l'ID\‘-f_d

Weaker responses showed that the candidates were familiar with the remainder theorem but
could not connect the condition correctly to get the required form in part ii, although they
were able to manage to find the remainder in part i. Some of them used the remainder of part
i, instead of given remainder in part ii, that lead to an incorrect answer.
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Example:

. Giventhat P(x) =2 — m [ —x )+ 4,

i find the remainder when Prx) is divided by Ze—2, (2 Murks)
In-2o o Prij o (—rolop 74
Heh 20 ~oko e %y =2 Y

Pin 20 e (L3 )4y 1 Ry 2-38
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Question 2b:

Factorise 2x°—2y%x—2 (x— y)(x2 +2Xy+ y2) completely.

Better responses displayed that the candidates factorised the given algebraic expression with
correct technique. They arranged the terms appropriately to take 2x as common from

x> —2y?x and then properly applied the formula of (a+b)? =a?+2ab+b?. This helped
the candidates to factorise the given expression quite comfortably.

Example:

b. Famurilge 2x° -2y %2 (x- y}{xl +2xy+ ;.:EJ completely.
Z,
TRV CEN L Ty Iy
3 3 L !

w-2iam =2 (0 +Domey 4 oud - —“u‘_J-'J

—'24 (ﬂ"i"’*-f) (ﬂd-ﬂ M_
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Weaker responses showed candidates’ lack of understanding of basic algebraic operations,
concept of factorisation and algebraic formulae. One example is cited below.

o x3—yB =(x—y)(x2+2xy+ y2)

They were unable to find the factors of the given expressions as they were just multiplied the
whole expression which showed the lack of practice as well.

Example:

l“l. T~} (nL**'.F\) (ﬂL rrlm; Y }
A (*3’“ o Re-1] Lu) (4 Aol

2 '?:[1'5_"_%13 -1) bﬁ»:;lj..(l‘%’*_j'mgjtf i
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Question 3:

The candidates were offered choice between part a and part b of the question. Candidates
well attempted part a as compared to part b.

Question 3a:
Find the highest common factor (HCF) of 8a® -1, 4a® —1and (2a—1)(2a-1).

In better responses, candidates used correctly the formula of a®-b® and a?—b? in 8a®-1

and 4a®—1. This helped candidates to move further in finding the highest common factor
which actually showed the good command over the understanding of given question.

Example:

%93.:“ 1 ._—Ka‘l‘ ']—)}LL"& A ohoe & ']_)
"5_10.1—-1 - ':_*&a—JlF\J-[/{ o S
Ao -1 o |\ L2 -1 Be-1)

HCF = Ra- 1
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Weaker responses revealed that candidates were unable to use the formula of a®—b® and

a’-b? in 8a®—1 and 4a%—1. As a result, they did not meet the actual requirement of the

question. Fewer candidates even though used the formula correctly but made mistakes and
calculated LCM rather than HCF.

Example:

Lo %erod o, He . i (2e-1 3{20-1)
(2P W (a1 e}t _

R el b L _

T ek Sl

wl-f + (2a- ) o o

Question 3b:

x2-27  x*+3x+9

(x=3)(x+3) (x—3)

Simplify the expression

In better responses, candidates used the formula of a®—b* and wrote (x+3)* in place of

x> +3x+9 correctly. Further, they converted division sign into multiplication sign and as a
result, they were able to fulfil the requirement of the question, i.e. simplified form of the
given expression.

Example:

oh % (o

(x35(3+3) Y CH2xtg

(O (Bab w2 % Qa—‘s)
O+ %) / X3y -

(x=3) (3R HBY )" Aloe 3)
Oc+-3) O ranghe)

Cmp O—3) " ’
Oty
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Weaker responses showed that candidates failed to apply the formula correctly. This was due
to lack of understanding of algebraic operations of multiplication and division.The weaker

responses also showed that candidates have confusions in factorising x®—27 as they wrote

(x—3)3 which was actually incorrect. Hence, they could not find the right answer.

Example:

=T

S WS 4:95 “x? v 2y
 1ix %‘)(,m) NG

. ateddA0 y (FAGD
------ - (xsd) 1Ry

—_— e m e e e ——— -

Question 4:

Given that m—1+2,/ x -1 = 4,/ x-1,

2
a. show, by working, that the above equation reduces to x —1= (m 1) :

b. express x in terms of m.
C. show that the value of x is 5, when m=5.

Better responses revealed that few candidates did well to solve this question. They collected

the like terms, i.e. v/x—1 and were able to simplify accordingly. This helped them in finding

the required form. As a result, they expressed x in terms of m successfully and so the required
value of x.
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Example:

Giiven that m—1 +20x -1 =4 x-1,

i show, by working, that the sbove equation oduces o x— 1= {m:}—. 03 Mlarks)

m—la}tmﬂlm | 72—l {wm-1)?
-1l = ZAX- | H
Sq,mmmci boih ﬁ!clés

(-1 (2451 )7

(m-1)% H(%-1) - ‘Shnwr‘: Hrat e e%ahcm
b H veduces bo #-l ‘LT_ T
b express xin terms of # £1 Murk)

Ma-4 - wmtwmi-m+ |
HX < v - 2w 1 5

¢, show thal the value of x 15 5, when m— 5, ¢ | Mark)
b = {5)> (2)(5)45 Wx . 285
Yy - 25 -10 45 H M
Ua: 2D % =5 (Hene shown)

Weaker responses showed that candidates had various misconceptions about solution of
radical equation; therefore, they were failed to get the required form. It was also seen that
they failed in collecting the like terms i.e. Jx-1 and got stuck in further steps. They showed
their lack of practice in the process of simplification and hence, they could not get the
required form and so the required value of x.
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Example:

(venthat m- 11200 1 = 4 x-1,
o show, by working, that the above cguation redoces tn x—1= [m;l}" : 3 hlarks)
.__M*'ﬂ‘r'lwfq-‘.zu;ﬂ—\, - B ) = Mw - Y
ol =W Yol - ) Vo) Ml s Uw - M-
B e N N et P S VO
SBS mim-1) = Ya- 5

L -
m) O (fae)
() - R A0 T Y e -

b, EXPEass I in Lerms of m, (1 Mark)

X =it Y-t = U i1

C. shonwy 1hat the value of x 15 5, when m=25. il Mark)
" = l:j 1 Y- E;
oWy
Question 5

The question offered choice a between part a and part b. Almost equal number of candidates
opted both parts.

Question 5a:

Given that the half of a negative number x and its square adds up to 18,

i show that 2x? +x—36 =0.
ii. hence, find x with the help of factorisation method.

This was a word problem based on the concept of quadratic equation. Very fewer candidates
were able to solve it correctly.

Better responses indicated that candidates did well to translate a word problem into
mathematical statement. This helped candidates to get the required equation 2x?+x—36 =O0.
After that, they were very much comfortable to find the required value of x.
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Example:

L (Toral 5 darks)

&' Giventhatl the half of 4 negative mimber - and its squaee adds op to 18,

i ohow that 217 + - 3 =01, {3 Marks]
e =12 AesR
1 .
— \*/ — APre26:=D

- SR A ged!

i __a-“‘_-]—“_'— %]g
- T Q, - - _ —

ii.  bence, And x with 1he help of (actorizsaiion method. {2 Afark=)

A Hn36=0_ _ _ lawds0 m—q-
AR -36 20 law=-A E . }
2D+ Ae) 20 o]
@“v*@ L' 4)=0 — !

_Qv_ar_‘:!_: O, w2U=D

Weaker responses indicated that candidates were failed to convert the word problem into the
. . 1 . 1
mathematical statement. Some candidates wrote E(XZ + x):18 instead of EXZ +x=18

which was actually incorrect. Because of this, they could not reach the required form and so
the required value of x. It was also noticed that majority of the candidates left part i, and just
got the value of x with the help of given equation in part i and as a result they were not able to
get maximum.
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Example:

Given that the halt of a napative nrvher . and its squace adds op oo L8,

i showthat 3o 1x 36—, (3 Marks)
2Ty o - 36 .Y B B
Lobo o x e T Ual o= -l A 2€]
o 2. a B Y
s =12 ) - b2)L%) -
) 2. L2) )

1l x 1. 2%

—

. hence, findd o et e belp ol Tactomsalion methed, : (2 Marks}
2? ¥ 0w =36 =0
2o G t%m - 36 =0

- 2wz R -Be -
“(2n" 6}, Btz (2r b} (2-6)

e {(Zm +63( '114:)_

Question 5b:

. Convert (6x + 5):1 into x?+2x = .
X 6 6

ii. Hence, show that this equation can also be represented in completing the square

5\ 49
formas | x+— | =—.
12 144

Better responses indicated that candidates in part i, successfully convert the given equation

into the required form. This helped them to go further in part ii, as they were able to manage
2

5 j 49

the completing square form which led them to the correct form, i.e. [x+E =1
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Example:

- . . ] : 3 1
i Convert (Gx + 5}= - imto ¥ +|_SI = o {2 warks)
x

_[ b ¥ BN)W_‘_ oy bres fay s Vo Bt e Syl
L X

_— - -

*153_:‘5‘_}_

- - . _.__.__htH\_!L_:__F-_'H‘_SI.. e e e e — —

i, Hence, show that this egualion can also be represetited in connpleting the sgnare form

“ ~2

as L.H‘— L. (3 Marks)
2} " 144
'-'.'f.z"’f 5:‘!‘. T J— - —
¢ 3
T . _
o 2 + f‘ 5 \\ = _L. ¥ {._5._\1
A 6 \exx] ¢ \w]
. . - S,
1 L, ~u _ .
€ W = L,
.3 L
5 a8 £ ('?i +_5|.\ : 44
[ 4y NOR ] yy

Weaker responses indicated that candidates failed to convert the given equation into the
quadratic form and so for completing the square form. Because of lack of practice, they did

not follow the steps required in completing the square form. It was seen that candidates
2

2
directly wrote (x+%) but forgot to add (%j with % and hence, they could not get the

required answer.
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Example:

i Clonvert {h.t+"i] l]ntnx +2r—é (F htarks)
[Blfg) _l_. 1*61+§‘I Lxp /éz I)C",L'f ]) O
3
Lot -PI:}L"] 6’&’:"‘“

LKIHJ’FIEH\) = ‘}(_r—__ir = 5}@::—’)?.

i, 1lence, show thar (his equation can also be tepresented in completing the square form

© 5y 49 e
as [_;—E] :m. (3 Marks)
x2+28 =LA , _
oy 10g D260

224 0172 O 34O
130 B0 0011822 = O 31000oTue
’Vxﬁo OEHIG 7Y = 2B 2
~o3u148 2> — 0 0844947
gl rD-M?;E;_

o0 dTY822-0-§664297

Question 6

The candidates were offered choice between part a and part b of the question. Candidates
attempted part a quite well as compared to part b.

Question 6a:

2 -1
It is given that the adjoint of a matrix N is L 4}.

i By finding matrix N, show that [N|=10.
il. Hence, find the inverse of matrix N.

iii.  Find the transpose of matrix% N .
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Better responses showed that candidates had good understanding of the concepts of inverse
of matrix and transpose of matrix. Therefore, they were able to find the inverse of matrix N

with the help of the given condition and so for the transpose of matrix %N systematically
and followed all the necessary steps.

Example:

i ltis given thar the adjoiat of & mawx N is E _;J
1. By finding matix A, shoos that |.-'~."| =10, i 2 hlarks)
N-[4 17
|2 2]
INT = 8.2
- 842 =10

W, Herce, find the inverse of matrix v, | Wlark’

-

Nl e Ad)N f2 -1 ] - ? P
NI 2 4] |7
\0 /s s

i 1] the lranspuose o) mulrl;-;;.-"-' . 2 Marks)

i

Ne W2 v T4 17 T2 Y2l
= 2 22 2[4 ]

N2 ]

1
—

Weaker responses exhibited lack of practice in finding the matrix N with the help of adjoint
of matrix. They made mistakes in finding the matrix N and wrote adjoint of N directly as
matrix N without using a correct method. It was noticed that fewer candidates wrote

4 -1
{ 5 2} as matrix N which led to an incorrect answer.
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Example:

T

2o
a.  lois given thae the adjoiws of o inafris N e i 26 *‘4J
i. Gy findinge metns W chow (bl |"-f| — T (2 MWarks?y
foo = thed E’
| &1 '
e __)IN|= act-pe I

- (DD-(DGEY

T 2+3 = |0 provest.
|

ii.  Henes, find the inverie o msdosg . (1 Mark}

— _._I_'L“L'UEFT‘R-F = F Li '1-__ ' A
) L'l Py

fii.  Find the transpose n-"nerix% N. (2 Marks)
- - i
BN U B T (VOIS
2> 9 Vsrig twewi o

L — —— e e ot — —— a— = ot = e o

e e —— — . — — — — —— — — — "

—_——— e m —— e e — —

Question 6b:

If 1 n]{

1
2

ﬂ [5 —1]' =[12], then find the value of n.

Better responses informed that candidates found the multiplication of matrices very
systematically and followed all the necessary steps. This helped them to equate with [12] in

order to find the value of n successfully.
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Example:

0 ey 2](S]-D]

(@ et @D+neY] [5] = (2]
(1 a2n 1*“]{—5? f”-:l'

ﬁ'a » (AL < f‘z_-lrﬂ ﬂ ]
1Sslon—2-nTJ - [12]

%-l-bloﬂ-q Sy vz 3
2 4+ 9 =\ N
3(1+ 3n)= 12 AT
| E—
14+ 3z I
[+3n= {15
3,-,-1:'%-1

Weaker responses demonstrated that candidates had a weak understanding of multiplication
of matrices. They were unable to use the correct way of multiplication and failed to do the
necessary steps required in the process of multiplication. It was also noted that they directly
multiplied the matrix with [5 —1]" without taking the transpose which definitely led to an
incorrect way. Thus, they could not reach the required answer.

Example:

ranfi'-?'Jr_r,* “ _T=J — .
1/ I\ =3\ _[12)
I”;tf-.']ig 2 rg?—,ﬁ'aj/ [ wxa J —

1 J L+J (32— 1R
("?"‘:") (A=) { lan)
1) [ xed>e(3=xD\IMm] Jan_\=
LExB)+(ax=1)Y s _ a3

/
(1) & + -2 L_ﬁ']} 91'3

Lo + (1) J
[tnl[ 290 =237 =3
L aJ )}
CEEPIRCE: o
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Question 7:

In the given diagram, EFGH is a square, where EH =aunits and 1G =bunits.
Points C, 1 and D lie on GF, GH and EF respectively such that DE = FC = IG.

e

a units
H F
b
N N6
a. State the length of CG in terms of a and b.
b. Prove that triangle FDC is congruent to triangle GCI . Give all the reasons to
support your proof.
C. Hence, state the property of congruency that is used in the proof.
d. Give a reason why triangle FDC is similar to triangle GCI .

The question was based on the concept of congruency and similarity. Few candidates
attempted this question very well.

Better responses displayed that candidates were able to comprehend the diagram and applied
the properties of congruent triangle correctly. Proof and reasons were required and they had
done very well which showed good concept of congruency and similarity.
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Example:

a. Srate the length of OO0 in rerms of o and & [l 3durh ;
A— CF B
b Prove that triangle P00 35 congrnent i triangle GOF L Geive all the raosons fo sopport your proos
2 Marks)

-y - (:F\s e Square , He orth aeqles ove E"ﬁiﬂj"qua}
_ Cawer wab I & _C’F‘ (%a*ﬁ Sider, onve fi‘:!,-”-al\)

Co € = DF@F’-—&L‘ = Ef_ED)
Cormimd o FOC B GCL  r—Sns

c. Henes, state the proopents of congroency thar iz used in the proaf. i1 Mark)
SRS _
d. Ciive o neason why rianele MW is sirnilar 1o tangle O, e {1 Mlark)

e drey ae cangiuent twmo themily vadfe s Are Lamme
i3 5 J

40 +ned gve Sywilar -

Weaker responses indicated candidates’ lack of understanding of the concept related to
congruency and similarity. They were unable to get the required proof as they had no idea of
using the property of congruent triangles. They failed to give the reason in part d as well.
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Example:

2. Sate the length of OF in werms af g and & {1 hurk)
b.  Prove that oriangle #2XC is congruent to trinnple GO . Give all the reasons Lo support your prack,
{2 Marks)
A Gazvmoaks
c.  Hence, state the property of congruency that is nsed in the prool. (1 Mark)
J{pﬁeﬂg_ﬂi.éam&\&%hpﬂgig@
. Cive areasoh why tangle FRC = simdlar to miangle GCF 17 Mlarky
_QLLE k.:_majeg _&e&_&aah_ﬁ_ﬁ& oW
Question 8:

In the given space, draw a rectangle whose one of side is 6 cm and diagonal is 10 cm long.

Better responses exhibited that candidates have good understanding of the construction of
geometrical figures with the given measurements. They drew the rectangle by using all the

necessary steps with the help of given condition quite easily and correctly to achieve the
maximum marks.
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Example:

L~ 10
/! !
™,
™,
/7 |
- p,,-
‘\\
<] TRl
i ’ L
N i e, N

Weaker responses displayed that candidates were unable to draw the rectangle with the given
measurements. They did not use the necessary steps that were required to draw the rectangle.
It was noted that fewer candidates just measured one side of 6 cm and rest of the sides and
diagonals were drawn directly without any measurement which showed the lack of inability.

Example:
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Question 9:
(Formula: Volume of cone = %ﬂ' r’h)

It is given that the volume of a cone is 15 cubic units.

a. Find the volume of the cylinder whose radius and height are same as the cone.

b. Hence, show that the square of radius of cone is % units, when height is % units.

(Note: Take 7 = %)

Better response reported that candidates understood the question very well and rightly
applied the condition used in the question to find the volume of cylinder and rest of the part
accordingly. It was also noticed that candidates solved this question in different way as well
by using the values of the square of radius of cone and height to show that the volume of
cone is 15 cubic units.

Example:
It is mivew that the volume of a conc is 15 cubic units.
a. Find the volnme of tha cylinder whiee redius and height are samwe = e conc, {2 hTarks]
NVolume of cone = 33 %Pk 14 3 =Y N ’ __
X2 Vowme of oydinders M
B 2 = 11‘13'_\'.\_ = 2 AN
15 = w1t B
28 =y Ndumeshe uacj;— fim'-'um
1 ndey
b.  Honce, show that the squarc of radins of cons is “11—; wuils, when height is %Lmils. (2 Miarks)
[(More: Taks a1 = %E- 1
V=43 W- 3 Ndume a.ﬁ tone = \Gepy>
L= ._r.l_ I _1 ;I"C"‘:‘l
_¥olume g‘» one = AN ' {Proved ac
- I L R
= gﬂa,é.'f EEN 2 N
T 1% =15 of one
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Weaker responses showed that the candidates were unable to understand the question and
applied wrong approach to get the volume of cylinder. They also failed to prove the square of
radius of cone and height while simplifying. This must be done by the candidates as formula
is also given in the question and they just needed to read the formula efficiently.

Example:

It is given that the volume of a conc is 13 cubic unies.

a.  Find the vnlome of the c¥linder whose2 eadins and height aee same ag the cone. (2 Marks)

J_n_b-xm._ﬂ:g-__umiﬁ_.% xrth

ILEE"}.‘_:: :ﬂ:“fl\l\
4% = L yrh

Culindee = M x J€ xsh =2 w B, Gulindey = €0
=3 T3 v

45 - 7. :
b.  Hengg show that the square of radivs of cone [s l—; units, when height is — units. 2 Marks)

™

(Mnte: Take 7 = E}-?-'—]

Cene s __%___II VI N

- _'3-_1111 1‘15_5;_'-'"-_
3 "+ W 2
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Question 10:
Three points K, L and M lie on a straight line such that KL =5 units and MK =15 units.

A

K(—l, 5) 5 units

NOT TO SCALE

15 units

M (m,0)

Show that the distance between two points M and L is given by the equation
m? +n? =100.

Better responses reported that candidates used the distance formula between the given points
correctly and were able to establish the relation ML =10units to achieve the condition

mentioned in the question, i.e. m? +n? =100. It was also seen that candidates used the value

of m?+n? i.e. 100 and substituted this value in finding ML. As a result, they got correctly
ML = 10 units which can easily see or calculated from the diagram.

Example:

Show that the distunce belween lwo peinls A and £ is given by the equaion m° +77 = HK .

= A{wm-0)24(0-w* -« 1B-5 ]
oA ER - L 10
- N wmTAn’ = |0

Sauarine botn sides-
(deml-iﬂl)x . (10X ?
Wt - 100
HENLe  shiwia .
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Weaker responses revealed that candidates failed to read the diagram correctly in order to
establish the correct relationship. They were confused in using the relation ML = 10 units and

because of this, they could not go further in finding m?+n?=100. Although, fewer
candidates just managed to find the distance between two points M and L .

Example:

—arm——

. . - — _L — 2 =
biskmee  Rimula . Jﬂ;_jﬁf +jj, 1.1 o

Vilmeof = £0n-06 12 =z lvo_
¢ lem 12 4 L. 3% = \uo
& mE i nt = Yo
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